
See ANSWERS below on PAGE 4.  
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4. 

 

Find the missing length for each problem.  

5. ΔNML ~ ΔBCD 

 

6. ΔBCD ~ ΔBST 

 

 



7. ΔNML ~ ΔNQR 

 

The triangles in each pair are similar. Solve for x.  

8. ΔLMN ~ ΔLUV 

 

9. A tree 24 feet tall casts a shadow 12 feet long. Brad is 6 feet tall. How long is Brad's shadow? 

 

 

 

 

 

 

 

 

 

 

 



Answers: 

1. similar; SAS; ΔGFE ~ ΔGBC 

 

 

 

2. similar; SAS; ΔEFG ~ ΔESR 

 

 

 

 

 

3. similar; AA; ΔABC ~ ΔAGF 

 

 

 

 

4. not similar 

 

 

 

 

5. 12 

 

 

 

 

 

6. 35 

 

 

 

 

7. 10 

 

 

 

 

 

 

 

 

 



8. 14 

 

 

 

 

 

 

 

9. 3 ft 

 


